V1= S anCtuS Michel Rondeau

Symphony #7 (6) in ¢

Hormn in F 2

Allegro ( J. =circa 80) (6'34'")

) &

ANIV
)

[ @ IO

—

f=

<

circa 80)

(J=

(9]

-2

)

O-

O

circa 80)

Allegro éi

ANV

1990



Symphony #7 (6) in ¢ Horn 2

65

[0 X0

O

| fan

[® IO

circa 80)

(J

4

O

circa 80)

2

Allegro ( J

86
-4
A3

|16

L)

L)

) J

)

) J

)]

K

L)

Paul
o

y 2

y 2

]

y 2

S

AW J

ANV
)

106

M

117

ANV




Symphony #7 (6) in ¢ Horn 2

120
5 # \ N AN
6‘ i > [ 7] & T & y X0 & [ 7] [ 7] & & [ 7] 1 & y X0
/i [ PN PN /i /i /i /i /i /i PN PN
\Q\)\, e € e e
123 (J: circa 80)
9 o
-] \ ()]
i [ 7] [ 7] 1 & y X0 [ ] (7] ) [ 7] ) y 2 y 2
L L e —¢ [ ¢ S o L e ¢
129
o
y ] y 2 y ] y ] y ] y ] y 2 y ] y ] y 2 y ] y 2 y ]
PN PN PPN e e e -~ e -~ e -~ PN PN
& e ¢ e —¢ e ¢ e —¢ ¢ e ¢ ¢
), rit.




